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1. {a} Describe all sclutions of Ar =0 in parametric vector form, where
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(i) 1o solution,

(i} fx,u!h one solution and

(iii) an infinite number of solutions.
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2. (a) Are the vectors
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linearly independent? Do they span R3? Expl ain your reason. o = S
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i. Write the matrix of the transformation.
ii. Is T' 1-17 Show your work.
iii. Is T onto? Show your work.
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3. {0} Wiite the corresponding luear system to ihe traffic network. Do not
\u]\\‘!
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(b) (i) If a matrix A is 5 x 3 and the product matrix AB is 5 x 7, what
is the size of the matrix B?

(ii) If the columns of a 7x 7 matrix D are linearly independent, what
can you say about solutions of Dz = b? Explain your answer.

(iii) How many pivot columns must a 7x 5 matrix have if its columns
are linearly independent? Why?

(iv) Isit possible for a 5 x 5 matrix to be invertible when its columns
do not span R°? Why or why not?
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. (a) Find the inverse of
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Rﬁ\p if it exists. State whether the column vectors of the given matrix %
linearly independent or not. 1 3 3
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{b) Find an LU factorization of the given matrix
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